F2009 Exam 2 Solutions

1-1)B

1-2)D

1-3)C

1-4)A

1-5)C

2 (a) 8%2

2(c) u,=0.816
2(e) 6=39.2°
3(a) v=44.27"
3 (b) W, =-37.1kJ
3(c) 0=24.8°

4 (a) k =47,824N/
4 (b) v=15.33"%

4 (c) W, =956.48J
4 (d) W, =-940.8J
4 (e) Ay =0.173m
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1-1)B

1-2)D

1-3)-78.4N

1-4)4

1-5)262,000)

2 (a) T=8s, f=0.125Hz

2 (b) v, =3.927/

2(c) a,=3.087, , F, =92.5N
2(d) p, =0.315

3(b) F, =36.24N

3 (C) a= 384%2

3(d) W, =0

4(a) v=12.52/

4(b) Eg =5mvi

E. = %kAXZ,, —mgx ., sind
4(c) X, =1.62m

4 (d) W =-262.3J




